MAT 135, Discussion Qu

estions 4.11

1. What is a point estimate for a parameter? What are the downsides of using point estimates?
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2. Give an example of an unbiased estimator and what parameter it can estimate./gb‘” 5"*\""53&“- \YULLL»Q-“
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3. Why are interval
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estimates better than point estimates?
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4. What is the most
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5. What is the marg
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commori confidence level used for confidence intervals?
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n of error? How is it calculated?
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6. Give at least five of the most common z-values for common confidence intervals.
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7. What conditions n
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eed to be satisfied to use the normal approximation for proportions?
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dence interval for p = 59% and a sample size of 1100. Then find an 80%
val and a 99% confidence. Graph the three confidence intervals on a number
he center at 0.59. What do you notice about the three intervals as confidence

8. Find a 95% conf
confidence inter
line along with t
levels change? )
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9. Find a 95% confidence interval for P = 59% and a sample size of 1100. Then find a 95%

confidence interval with a sample size of 500, and with a sample size of 2500 for the same

statistic. Graph the three confidence intervals on a number line along with the center at 0.59.

What do you notice about the three intervals as sample size changes?
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10. How big a sample

size is needed to estimate a true proportion within 1%? (The most
conservative esti

mate for p, if it is not known, is to assume a value of 50%.)
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11. The student news
you favor elimina
eliminating such f

paper at a college asks a simple random sample of 250 undergraduates, “Do
ling supplemental fees for lab courses?” In all, 150 of the 250 are in favor of
ees. Find a 95% confidence interval not using the quick method.
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12. Arecent Gallup Poll interviewed a random samp%

éf 1523 adults. Of these, 868 bought a lottery
ticket in the past y

ear. Construct a 99% confidence interval for these results.
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13. A poll of 1234 adullts found that 62% expect an increase in environmental pollution in the next
decade. Take the

poll’s sample to be a simple random sample of all adults. What is an 98%
confidence interval for these results?
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